J. Appl. Math. & Informatics Vol. **34**(2016), No. 3 - 4, pp. 249 - 255 http://dx.doi.org/10.14317/jami.2016.249

# SOME INTEGRALS ASSOCIATED WITH MULTIINDEX MITTAG-LEFFLER FUNCTIONS

N.U. KHAN, T. USMAN\* AND M. GHAYASUDDIN

ABSTRACT. The object of the present paper is to establish two interesting unified integral formulas involving Multiple (multiindex) Mittag-Leffler functions, which is expressed in terms of Wright hypergeometric function. Some deduction from these results are also considered.

AMS Mathematics Subject Classification : 33C60, 33E12. *Key words and phrases* : Multiple (multiindex) Mittag-Leffler Function, Wright Hypergeometric Function and Integrals.

#### 1. Introduction

A number of integral formulas involving a variety of special functions have been developed by many authors (see [2, 3, 4, 5], also see [7] and [10]) motivated by their work. We presents two integral formulae involving the Multiple (multiindex) Mittag-Leffler function, which are expressed in terms of Wright Hypergeometric function. Some interesting cases of our main results are also considered.

The generalization of the generalized hypergeometric series  ${}_{p}F_{q}$  (1.9) is due to Fox [1] and Wright ([12, 13, 14]) who studied the asymptotic expansion of the generalized Wright Hypergeometric function defined by (see [7, p.21]).

$${}_{p}\psi_{q}\left[\begin{array}{ccc} (\alpha_{1}, A_{1}), (\alpha_{2}, A_{2}), \cdots, (\alpha_{p}, A_{p});\\ (\beta_{1}, B_{1}), (\beta_{2}, B_{2}), \cdots, (\beta_{q}, B_{q}); z \end{array}\right] = \sum_{n=0}^{\infty} \frac{\prod_{j=1}^{p} \Gamma(\alpha_{j} + A_{j}k)}{\prod_{j=1}^{q} \Gamma(\beta_{j} + b_{j}k)} \frac{z^{k}}{k!} \quad (1.1)$$

where the coefficients  $A_1, \dots, A_p$  and  $B_1, \dots, B_q$  are positive real numbers such that

$$1 + \sum_{j=1}^{q} B_j - \sum_{j=1}^{p} A_j \ge 0$$

Received July 28, 2015. Revised October 6, 2015. Accepted October 21, 2015. \*Corresponding author.

 $<sup>\</sup>bigodot$  2016 Korean SIGCAM and KSCAM.

A special case of (1) is

$${}_{p}\psi_{q}\begin{bmatrix}(\alpha_{1},1), (\alpha_{2},1), \cdots, (\alpha_{p},1);\\(\beta_{1},1), (\beta_{2},1), \cdots, (\beta_{q},1);z\end{bmatrix} = \frac{\prod_{j=1}^{p}\Gamma(\alpha_{j})}{\prod_{j=1}^{q}\Gamma(\beta_{j})} {}_{p}F_{q}\begin{bmatrix}(\alpha_{1}), \cdots, \cdots, (\alpha_{p});\\(\beta_{1},1), \cdots, \cdots, (\beta_{q});z\end{bmatrix},$$

where  ${}_{p}F_{q}$  is the generalized hypergeometric series defined by (see [8, section 1.5])

$${}_{p}F_{q}\begin{bmatrix}(\alpha_{1}), (\alpha_{2}), \cdots, (\alpha_{p});\\(\beta_{1}), (\beta_{2}), \cdots, (\beta_{q});z\end{bmatrix} = \sum_{n=0}^{\infty} \frac{(\alpha_{1})_{n} \cdots (\alpha_{p})_{n}}{(\beta_{1})_{n} \cdots (\beta_{q})_{n}} \frac{z^{n}}{n!} = {}_{p}F_{q}(\alpha_{1}, \cdots \alpha_{p}; \beta_{1}, \cdots \beta_{q}; z)$$

where  $(\lambda)_n$  is called the pochhammer's symbol [8].

Kiryakova [11] defined the multiple (multiindex) Mittag-Leffler function as follows. Let m > 1 be an integer,  $\rho_1, \dots, \rho_m > 0$  and  $\mu_1, \dots, \mu_m$  be arbitrary real numbers. By means of "multiindices"  $(\rho_i)(\mu_i)$ , we introduce the so-called multiindex(m-tuple,multiple) Mittag-Leffler functions.

$$E_{\left(\frac{1}{\rho_i}\right),(\mu_i)}(z) = \sum_{k=0}^{\infty} \frac{z^k}{\Gamma(\mu_1 + \frac{k}{\rho_1}) \cdots \Gamma(\mu_m + \frac{k}{\rho_m})}$$
(1.2)

In what follows the relations of (1.2) with some known special functions:

(i) For m=2, if we put  $\frac{1}{\rho_1} = \alpha$ ,  $\frac{1}{\rho_2} = 0$  and  $\mu_1 = 1$ ,  $\mu_2 = 1$ , in (1.2), we have

$$E_{\alpha}(z) = \sum_{k=0}^{\infty} \frac{z^k}{\Gamma(1+\alpha k)}$$
(1.3)

(ii) For m=2, if we put  $\frac{1}{\rho_1} = \alpha$ ,  $\frac{1}{\rho_2} = 0$  and  $\mu_1 = \beta$ ,  $\mu_2 = 1$ , in (1.2), we have

$$E_{\alpha,\beta}(z) = \sum_{k=0}^{\infty} \frac{z^k}{\Gamma(\beta + \alpha k)}$$
(1.4)

(iii) For m=2, if we put  $\frac{1}{\rho_1} = 1$ ,  $\frac{1}{\rho_2} = 1$  and  $\mu_1 = \nu + 1$ ,  $\mu_2 = 1$  and replacing z by  $\frac{-z^2}{4}$ , in (1.2), we have (see [11])

$$E_{(1,1),(1+\nu,1)}\left(\frac{-z^2}{4}\right) = \left(\frac{2}{z}\right)^{\nu} J_{\nu}(z)$$
(1.5)

where  $J_{\nu}(z)$  is a Bessel function of first kind (see [8, 9]). (iv) For m=2, if we put  $\frac{1}{\rho_1} = 1$ ,  $\frac{1}{\rho_2} = 1$  and  $\mu_1 = \frac{3-\nu+\mu}{2}$ ,  $\mu_2 = \frac{3+\nu+\mu}{2}$  and replacing z by  $\frac{-z^2}{4}$ , in (1.2), we have (see [11])

$$E_{(1,1),(\frac{3-\nu+\mu}{2},\frac{3+\nu+\mu}{2})}\left(\frac{-z^2}{4}\right) = \frac{1}{z^{\mu+1}} \ 4S_{\mu,\nu}(z) \tag{1.6}$$

where  $S_{\mu,\nu}(z)$  is a Struve function (see [8, 9]).

250

(v) For m=2, if we put  $\frac{1}{\rho_1} = 1$ ,  $\frac{1}{\rho_2} = 1$  and  $\mu_1 = \frac{3}{2}$ ,  $\mu_2 = \frac{3+2\nu}{2}$  and replacing z by  $\frac{-z^2}{4}$ , in (1.2), we have (see [11])

$$E_{(1,1),(\frac{3}{2},\frac{3+2\nu}{2})}\left(\frac{-z^2}{4}\right) = \frac{1}{z^{\mu+1}} \ 4H_{\nu}(z) \tag{1.7}$$

where  $H_{\nu}(z)$  is a Lommel function (see [8, 9]).

In the present investigations, we shall be invoking following relations, see Obhettinger [6].

$$\int_0^\infty x^{\mu-1} (x+a+\sqrt{x^2+2ax})^{-\lambda} dx = 2\lambda a^{-\lambda} \left(\frac{a}{2}\right)^\mu \frac{\Gamma(2\mu)\Gamma(\lambda-\mu)}{\Gamma(1+\lambda+\mu)}$$
(1.8)

provided  $0 < R(\mu) < R(\lambda)$ .

## 2. Main results

Two generalized integral formulae, which have been established in this section, are expressed in terms of generalized (Wrigt) hypergeometric function, Multiple Mittag-Leffler, with suitable arguments in the integrands, is invoked in the analysis of the results under investigation.

### First Integral

The following integral formula holds true:

$$\int_{0}^{\infty} x^{\mu-1} (x+a+\sqrt{x^{2}+2ax})^{-\lambda} E_{(\frac{1}{\rho_{i}}),(\mu_{i})} \left(\frac{y}{x+a+\sqrt{x^{2}+2ax}}\right) dx$$
  
=2<sup>1-\mu} a^{\mu-\lambda} \Gamma(2\mu) \sigma \psi\_{m+2} \begin{bmatrix} (1+\lambda,1), & (\lambda-\mu,1), & (1,1); & & \\ & & & \\ (\mu\_{1},\frac{1}{\rho\_{1}}), & \dots, & (\mu\_{m},\frac{1}{\rho\_{m}}), & (\lambda,1), & (1+\lambda+\mu,1); & \\ & & \\ & & \\ \end{pmatrix} . (2.1)</sup>

#### Second Integral

The following integral formula holds true:

$$\int_{0}^{\infty} x^{\mu-1} (x+a+\sqrt{x^{2}+2ax})^{-\lambda} E_{(\frac{1}{\rho_{i}}),(\mu_{i})} \left(\frac{xy}{x+a+\sqrt{x^{2}+2ax}}\right) dx$$
  
=2<sup>1-\mu} a^{\mu-\lambda} \Gamma(\lambda -\mu) \sigma\psi\_{m+2} \begin{bmatrix} (1+\lambda, 1), & (2\mu, 2), & (1,1); \\ & & & \\ (\mu\_{1}, \frac{1}{\rho\_{1}}), \dots, & (\mu\_{m}, \frac{1}{\rho\_{m}}), & (\lambda, 1), & (1+\lambda, 2); \\ \hline \end{bmatrix} \begin{bmatrix} (1+\lambda, 1), & (2\mu, 2), & (1,1); \\ & & & \\ (\mu\_{1}, \frac{1}{\rho\_{1}}), \dots, & (\mu\_{m}, \frac{1}{\rho\_{m}}), & (\lambda, 1), & (1+\lambda, 2); \\ \hline \end{bmatrix} \end{bmatrix}. (2.2)</sup>

Proof of (2.1).

In order to derive (2.1), we denote the left- hand side of (2.1) by I, expressing  $E_{(\frac{1}{\rho_i}),\mu_i}(z)$  as a series with the help of (1.2) and then interchanging the order of integration and summation, which is justified by uniform convergence of the

involved series under the given conditions, we get

$$I = \int_0^\infty x^{\mu-1} (x+a+\sqrt{x^2+2ax})^{-\lambda} E_{(\frac{1}{\rho_i}),(\mu_i)} \left(\frac{y}{x+a+\sqrt{x^2+2ax}}\right) dx$$
$$= \sum_{k=0}^\infty \frac{(y)^k}{\Gamma(\mu_1+\frac{k}{\rho_1})\cdots(\mu_m+\frac{k}{\rho_m})} \int_0^\infty x^{\mu-1} (x+a+\sqrt{x^2+2ax})^{-\lambda-k} dx$$

Evaluating the above integral with the help of (1.8), we get

$$I = 2^{1-\mu} a^{\mu-\lambda} \Gamma(2\mu) \sum_{k=0}^{\infty} \frac{\Gamma(1+k+\lambda)\Gamma(\lambda+k-\mu)\Gamma(1+k)}{\Gamma(\mu_1+\frac{k}{\rho_1})\dots\Gamma(\mu_m+\frac{k}{\rho_m})\Gamma(1+k+\lambda+\mu)\Gamma(\lambda+k)} \left(\frac{y}{a}\right)^k \frac{1}{k!}.$$

Finally, summing the above series with the help of (1.1), we arrive at the right hand side of (2.1). This completes the proof of first result.

### Proof of (2.2).

Similarly, to derive (2.2), we denote the left- hand side of (2.2) by I', expressing  $E_{(\frac{1}{\rho_i}),\mu_i}(z)$  as a series with the help of (1.2) and then interchanging the order of integration and summation, which is justified by uniform convergence of the involved series under the given conditions, we get

$$I' = \int_0^\infty x^{\mu-1} (x+a+\sqrt{x^2+2ax})^{-\lambda} E_{(\frac{1}{\rho_i}),(\mu_i)} \left(\frac{xy}{x+a+\sqrt{x^2+2ax}}\right) dx$$
$$= \sum_{k=0}^\infty \frac{(y)^k}{\Gamma(\mu_1+\frac{k}{\rho_1})\cdots(\mu_m+\frac{k}{\rho_m})} \int_0^\infty x^{\mu+k-1} (x+a+\sqrt{x^2+2ax})^{-\lambda-k} dx$$

Evaluating the above integral with the help of (1.8), we get

$$I^{'} = 2^{1-\mu} a^{\mu-\lambda} \Gamma(2\mu) \sum_{k=0}^{\infty} \frac{\Gamma(1+k+\lambda)\Gamma(2k+2\mu)\Gamma(k+1)}{\Gamma(\mu_{1}+\frac{k}{\rho_{1}})\dots\Gamma(\mu_{m}+\frac{k}{\rho_{m}})\Gamma(1+2k+\lambda)\Gamma(\lambda+k)} \left(\frac{y}{2}\right)^{k} \frac{1}{k!}.$$

Finally, summing the above series with the help of (1.1), we arrive at the right hand side of (2.2). This completes the proof of second result.

### 3. Special Cases

In this section, we define some special cases of our main results:

1. 
$$\int_{0}^{\infty} x^{\mu-1} (x+a+\sqrt{x^{2}+2ax})^{-\lambda} E_{\alpha} \left(\frac{y}{x+a+\sqrt{x^{2}+2ax}}\right) dx$$
$$= 2^{1-\mu} a^{\mu-\lambda} \Gamma(2\mu) {}_{3}\psi_{3} \begin{bmatrix} (1+\lambda,1), & (\lambda-\mu,1), & (1,1); \\ & & \\ (1,\alpha), & (1+\mu+\lambda,1), & (\lambda,1); \end{bmatrix}$$
(3.1)

252

2. 
$$\int_{0}^{\infty} x^{\mu-1} (x+a+\sqrt{x^{2}+2ax})^{-\lambda} E_{\alpha} \left(\frac{xy}{x+a+\sqrt{x^{2}+2ax}}\right) dx$$
$$= 2^{1-\mu} a^{\mu-\lambda} \Gamma(\lambda-\mu) {}_{3}\psi_{3} \begin{bmatrix} (1+\lambda,1), & (2\mu,2), & (1,1); \\ & & \frac{y}{2} \\ (1,\alpha), & (1+\lambda,2), & (\lambda,1); \end{bmatrix}$$
(3.2)

The above results (3.1) and (3.2) can be established with the help of integrals (2.1) and (2.2) by taking m=2,  $\frac{1}{\rho_1} = \alpha$ ,  $\frac{1}{\rho_2} = 0$ ,  $\mu_1 = 1$ ,  $\mu_2 = 1$  and using equation (1.3).

3. 
$$\int_{0}^{\infty} x^{\mu-1} (x+a+\sqrt{x^{2}+2ax})^{-\lambda} E_{\alpha,\beta} \left(\frac{y}{x+a+\sqrt{x^{2}+2ax}}\right) dx$$
$$= 2^{1-\mu} a^{\mu-\lambda} \Gamma(2\mu) {}_{3}\psi_{3} \begin{bmatrix} (1+\lambda,1), & (\lambda-\mu,1), & (1,1); \\ & y \\ & (\beta,\alpha), & (1+\mu+\lambda,1), & (\lambda,1); \end{bmatrix}$$
(3.3)

4. 
$$\int_{0}^{\infty} x^{\mu-1} (x+a+\sqrt{x^{2}+2ax})^{-\lambda} E_{\alpha,\beta} \left(\frac{xy}{x+a+\sqrt{x^{2}+2ax}}\right) dx$$
$$= 2^{1-\mu} a^{\mu-\lambda} \Gamma(\lambda-\mu) {}_{3}\psi_{3} \begin{bmatrix} (1+\lambda,1), \quad (2\mu,2), \quad (1,1); \\ & y \\ (\beta,\alpha), \quad (1+\lambda,2), \quad (\lambda,1); \end{bmatrix}$$
(3.4)

The above results (3.3) and (3.4) can be established with the help of integrals (2.1) and (2.2) by taking m=2,  $\frac{1}{\rho_1} = \alpha$ ,  $\frac{1}{\rho_2} = 0$ ,  $\mu_1 = \beta$ ,  $\mu_2 = 1$  and using equation (1.4).

5. 
$$\int_{0}^{\infty} x^{\mu-1} (x+a+\sqrt{x^{2}+2ax})^{-\lambda+\frac{\nu}{2}} J_{\nu} \left[ 2i \left( \frac{y}{x+a+\sqrt{x^{2}+2ax}} \right)^{\frac{1}{2}} \right] dx$$
$$= i^{\nu} (y)^{\frac{\nu}{2}} 2^{1-\mu} a^{\mu-\lambda} \Gamma(2\mu) {}_{2}\psi_{3} \begin{bmatrix} (1+\lambda,1), \quad (\lambda-\mu,1); \\ (1+\mu+\lambda,1), \quad (1+\nu,1), \quad (\lambda,1); \\ (1+\mu+\lambda,1), \quad (1+\nu,1), \quad (\lambda,1); \end{bmatrix}$$
(3.5)

6. 
$$\int_{0}^{\infty} x^{\frac{2\mu-\nu-2}{2}} (x+a+\sqrt{x^{2}+2ax})^{-\lambda+\frac{\nu}{2}} J_{\nu} \left[ 2i \left( \frac{xy}{x+a+\sqrt{x^{2}+2ax}} \right)^{\frac{1}{2}} \right] dx$$
$$= i^{\nu} (y)^{\frac{\nu}{2}} 2^{1-\mu} a^{\mu-\lambda} \Gamma(\lambda-\mu) {}_{2}\psi_{3} \begin{bmatrix} (1+\lambda,1), (2\mu,2); \\ (1+\lambda,2), (1+\nu,1), (\lambda,1); \end{bmatrix}$$
(3.6)

The above results (3.5) and (3.6) can be established with the help of integrals (2.1) and (2.2) by taking m=2,  $\frac{1}{\rho_1} = 1$ ,  $\frac{1}{\rho_2} = 1$ ,  $\mu_1 = \nu + 1$ ,  $\mu_2 = 1$ , replacing z by  $\frac{-z^2}{4}$  and using equation (1.5) (see [11]).

$$7. \int_{0}^{\infty} x^{\mu-1} (x+a+\sqrt{x^{2}+2ax})^{\frac{\mu-2\lambda+1}{2}} S_{\mu,\nu} \left[ 2i \left( \frac{y}{x+a+\sqrt{x^{2}+2ax}} \right)^{\frac{1}{2}} \right] dx$$

$$= i^{\mu+1} (y)^{\frac{\mu+1}{2}} a^{\mu-\lambda} \Gamma(2\mu) {}_{3} \left[ \begin{array}{c} (1+\lambda,1), & (\lambda-\mu,1), & (1,1); \\ (1+\mu+\lambda,1), & (\frac{3-\nu+\mu}{2},1), & (\frac{3+\nu+\mu}{2},1), & (\lambda,1); \\ (1+\mu+\lambda,1), & (\frac{3-\nu+\mu}{2},1), & (\frac{3+\nu+\mu}{2},1), & (\lambda,1); \\ \end{array} \right]$$

$$8. \int_{0}^{\infty} x^{\frac{\mu-3}{2}} (x+a+\sqrt{x^{2}+2ax})^{\frac{\mu-2\lambda+1}{2}} S_{\mu,\nu} \left[ 2i \left( \frac{xy}{x+a+\sqrt{x^{2}+2ax}} \right)^{\frac{1}{2}} \right] dx$$

$$= i^{\mu+1} (y)^{\frac{\mu+1}{2}} a^{\mu-\lambda} \Gamma(\lambda-\mu) {}_{3}\psi_{4} \left[ \begin{array}{c} (1+\lambda,1), & (2\mu,2), & (1,1); \\ (1+\lambda,2), & (\frac{3-\nu+\mu}{2},1), & (\frac{3+\nu+\mu}{2},1), & (\lambda,1); \\ \end{array} \right]$$

$$(3.8)$$

The above results (3.7) and (3.8) can be established with the help of integrals (2.1) and (2.2) by taking m=2,  $\frac{1}{\rho_1} = 1$ ,  $\frac{1}{\rho_2} = 1$ ,  $\mu_1 = \frac{3-\nu+\mu}{2}$ ,  $\mu_2 = \frac{3+\nu+\mu}{2}$ , replacing z by  $\frac{-z^2}{4}$  and using equation (1.6) (see [11]).

9. 
$$\int_{0}^{\infty} x^{\mu-1} (x+a+\sqrt{x^{2}+2ax})^{\frac{\nu-2\lambda+1}{2}} H_{\nu} \left[ 2i \left(\frac{y}{x+a+\sqrt{x^{2}+2ax}}\right)^{\frac{1}{2}} \right] dx$$
$$= i^{\mu+1} (y)^{\frac{\nu+1}{2}} 2^{\nu-\mu} a^{\mu-\lambda} \Gamma(2\mu) {}_{3}\psi_{4} \left[ \begin{array}{c} (1+\lambda,1), \quad (\lambda-\mu,1), \quad (1,1); \\ (1+\mu+\lambda,1), \quad (\frac{3}{2},1), \quad (\frac{3+2\nu}{2},1), \quad (\lambda,1); \end{array} \right]$$
(3.9)

$$10. \quad \int_{0}^{\infty} x^{\frac{2\mu-\nu-3}{2}} (x+a+\sqrt{x^{2}+2ax})^{\frac{\mu-2\lambda+1}{2}} H_{\nu} \left[ 2i \left(\frac{xy}{x+a+\sqrt{x^{2}+2ax}}\right)^{\frac{1}{2}} \right] dx$$
$$= i^{\mu+1} (y)^{\frac{\mu+1}{2}} 2^{\nu-\mu} a^{\mu-\lambda} \Gamma(\lambda-\mu) {}_{3}\psi_{4} \begin{bmatrix} (1+\lambda,1), (2\mu,2), (1,1); \\ (1+\lambda,2), (\frac{3}{2},1), (\frac{3+2\nu}{2},1), (\lambda,1); \end{bmatrix}$$
(3.10)

The above results (3.9) and (3.10) can be established with the help of integrals (2.1) and (2.2) by taking m=2,  $\frac{1}{\rho_1} = 1$ ,  $\frac{1}{\rho_2} = 1$ ,  $\mu_1 = \frac{3}{2}$ ,  $\mu_2 = \frac{3+2\nu}{2}$ , replacing z by  $\frac{-z^2}{4}$  and using equation (1.7).

254

#### References

- C. Fox, The asymptotic expansion of generalized hypergeometric functions, Proc. London Math. Soc. S2-27 (1928), 389-400.
- J. Choi, P. Agarwal, S. Mathur and S.D. Purohit, Certain new integral formulas involving the generalized Bessel functions, Bull. Korean Math. Soc. 51 (2014), 995-1003.
- 3. J. Choi and P. Agarwal, Certain unified integrals involving a product of Bessel functions of first kind, Honam Mathematical J. 35 (2013), 667-677.
- J. Choi and P. Agarwal, Certain Unified Integrals Associated with Bessel Functions, Boundary Value Problems, 2013 (2013:95), 9 pp. .
- J. Choi, A. Hasnove, H.M. Srivastava and M. Turaev, Integral representations for Srivastava's triple hypergeometric functions, Taiwanese J. Math. 15 (2011), 2751-2762.
- 6. F. Oberhettinger, Tables of Mellin Transforms, Springer, New York, 1974.
- P. Agarwal, S. Jain, S. Agarwal and M. Nagpal, On a new class of integrals involving Bessel functions of the first kind, Communication in Numerical Analysis, 2014 (2014), 1-7.
- 8. E.D. Rainville, Special functions, The Macmillan Company, New York, 2013.
- 9. H.M. Srivastava and H.L. Manocha, A Treatise on generating functions, Halsted Press (Ellis Horwood Limited, Chichester), John Wiley and sons, New York, 1984.
- H.M. Srivastava and P.W. Karlsson, *Multiple Gaussian Hypergeometric Series*, Halsted Press (Ellis Horwood Limited, Chichester), John Wiley and Sons, New York, Chichester, Brisbane, and Toronto, 1985.
- Virgina S. Kiryakova, Multiple (multiindex) Mittag-Leffler functions and relations to generalized fractional calculus, J. Comput. Appl. Math., 118 (2000) 241-259.
- E.M. Wright, The asymptotic expansion of the generalized hypergeometric functions, J. London Math. Soc. 10 (1935), 286-293.
- E.M. Wright, The asymptotic expansion of integral functions defined by Taylor series, Philos. Trans. Roy. Soc. London, A238, (1940), 423-451.
- E.M. Wright, The asymptotic expansion of the generalized hypergeometric function II, Proc. Lond. Math. Soc. S2-46 (1940), 389-408.
- Y.A. Brychkov, Handbook of Special Functions, Derivatives, Integrals, Series and Other Formulas, CRC Press, Taylor and Francis Group, Boca Raton, London, and New York, 2008.

Nabiullah Khan recieved his M.sc from Aligarh Muslim University, Aligarh in the year 1996. Later on he joined the Department of Mathematics, Aligarh Muslim University, Aligarh and completed his M.Phil and P.hD. in the year 1998 and 2002. His research interest is in the field of Special Functions and Operator theory. He is currently working as a Associate Professor in the Department of Applied Mathematics, Aligarh Muslim University, Aligarh.

Department of Applied Mathematics, Aligarh Muslim University, Aligarh-202002, India. e-mail: nukhan.math@gmail.com

**Talha Usman** recieved his M.sc from Jamia Millia Islamia, New Delhi in the year 2011. Later on he joined the Department of Applied Mathematics, Aligarh Muslim University, Aligarh as a research scholar.

Department of Applied Mathematics, Aligarh Muslim University, Aligarh-202002, India. e-mail: talhausman.maths@gmail.com

**M. Ghayasuddin** recieved his M.sc from M.J.P Rohilkhand University, Bareilly in the year 2007. Later on he joined the Department of Applied Mathematics, Aligarh Muslim University, Aligarh as a research scholar.

Department of Applied Mathematics, Aligarh Muslim University, Aligarh-202002, India. e-mail: ghayas.maths@gmail.com